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Tth
CH, +2x 1 Air —)C02+2H20+2><0'7924N2
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H20 CHa4
CHa Hi 802.3 MJ/kmol T  2200K
298K
2200K

1x0.05446 + 2 x 0.04366 + 2 x 0.7924
0.2076

2400K

1x 0.05509 + 2 0.04454 + 2x 21924
0.2076

2200<T,, <2400 [K]

2400K

x o.03332j x (2200 298) = 753.5 [MJ/kmol]

x 0.03361] x (2400 298) =842.4  [MJ/kmol]

T, = 2200+ 8023-7535 (2400-2200)= 2310 [K]
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CO, < CO+ 502 H, = 282.995[MJ / kmol]
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CO2 H20

P002 = ﬁg =0.0941 atm, PHZO = T2763 =0.188 atm
+2+7. +2+7.
2200K CO2 y 6.7 HO vy 138
kmol CO2 0.067kmol H20 0.036kmol

CH, + 20, + 7.63N,
—> 0.933CO0, + 0.067CO + 0.03350, + 0.964H ,0 + 0.036H , + 0.0180, + 7.63N,

CHyg4, CO, H2 P.4
CHg4 802.3 MJ/kmol
CoO 283.0 MJ/kmol
H2 241.8 MJ/kmol
2200K

802.3—-0.067 x 283.0—-0.036x 241.8 = 774.6  [MJ/kmol]

P.5

0.933x 0.05446 0.067x 0.03366 0.0335x 0.03513 1.964x 0.04366

0.036x 0.03147 0.018x 0.03513 7.63x 0.03332)x (2200 298)
753.2  [MJ/kmol]
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0.078x 0.03184 0.039x 0.03544 7.63x 0.03361)x (2400 298)
841.9 [MJ/kmol]

2200 K 2400 K
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753.2 MJ/kmol 841.9 MJ/kmol
Teq = 2200 + 774.6-1753.2 x (2400 - 2200) = 2235 [K]
(841.9-753.2) - (741.8- 774.6)
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%H2c>H H, = 217.999[MJ / kmol]
20,0 H, = 249.173[MJ / kmol]
%Oz—i-%Nz = NO H,, = 90.201[MJ / kmol]
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CH,+0, < CO,+2H, H, = —318.649[MJ/kmol |
CH,+10, < CO+2H,  H,=-35654MJ/kmol]
{CH4 +0, & C+2H,0 H, = —408.779[MJ/kmol |

CH,+ < C+2H, H, = 74.873[MJ/kmol |
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a 0.887

T,, = 2310 [K]
T,, =2184.4 [K]
T =1770 [K]
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